SATPREP

Assignment:Linear equation in one variable Date

Solve each equation.

) -7(1-n)=-2(n-9)-7

A) {2

B) { All real numbers. }
C) No solution.

D) {-3]

3) —6n - 7n=6(10n + 4) — 7(=9 - 2n)
A) {-2f B) {-20}
C) {-10] D) {-1]

5) —4a +5(1-2a)=33-7a
A) {3} B) {-4|
C) {15] D) {8}

7y -2(n - 8) = =51 + 31

A) {5} B) No solution.
C) {-6} D) {2}
9) —-r+2r=0
A) 3} B) {-10]
C) {-8] D) {0}

Name

2) Nx-5)=-7+4(x +8)
A) No solution. B) {1 1}
) {20} D) {-20]

4) 6(-r+6)=-5(5-+1)+3
A) No solution. B) {—2}
C) {-14} D) {-18}

6) —6(-5-7x)+2=32+7x
A) {of B) { All real numbers. }
C) (7] D) {-7}

8) 4x + 4 = 4(4x + 4)
A) (14} B) {-14|
C) {1} D) {6

10) 1=5v-5+6
A) {12) B) {0}
C) {-5) D) {10}



Solve each inequality and graph its solution.

1) x-12>7 12) 21>n-11



Answers to Assignment:Linear equation in one variable

) A 2) C 3) D 4) B
6) A 7 A 8) C
9) D 10) B 1) x>19: g N

18 20 22 24 26

12) 7 < =10 : oyttt

"4
-12 -10 -8 -6 -4 -2






